Form ACO-1
September 1999
Form Must Be Typed

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 30420	API No. 15 - 165-21799-00-00
Name: VJI Natural Resources	County: Rush
Address: 30-38 48th St.	1 5S NW NW NW Sec. 30 Twp. 18 S. R. 17 East X West
City/State/Zip: Astoria, New York 11103	2295 feet from (S) N (circle one) Line of Section
Purchaser:	feet from E (W)(circle one) Line of Section
Operator Contact Person: Jason Dinges	Footages Calculated from Nearest Outside Section Corner:
Phone: (_785)623 - 8060	(circle one) NE SE NW SW
Contractor: Name: Landmark Drilling LLC .	Lease Name: Oborny Farms-Zimmer Well #: 2-A
License:33549	Field Name: Rush Center SE
Wellsite Geologist: Robert Stolzle	Producing Formation: Arbuckle
Designate Type of Completion:	Elevation: Ground: 1986 Kelly Bushing: 1994
X New Well Re-Entry Workover	Total Depth: 3822 Plug Back Total Depth: 3790
X Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 1111 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan SUD NH @ -33-08 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 11.500 ppm Fluid volume 300 bbls
Plug BackPlug Back Total Depth	Dewatering method used <u>Evaporation</u>
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: Paul's Oilfield Services
7 26 06 8 02 06	Lease Name: Miller #1 SWD License No.: 31085
7-26-06 8-02-06 Spud Date or Date Reached TD Completion Date or	QuarterSec. 6 Twp. 19 S. R. 15 East X West
Recompletion Date Recompletion Date	County: Barton Docket No.: 21,324
Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 1	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING. Submit CP-111 form with all temporarily abandoned wells.
Il requirements of the statutes, rules and regulations promulgated to regula erein are complete and correct to the best of my knowledge.	ite the oil and gas industry have been fully complied with and the statements
signature: face Duzi	KCC Office Use ONLY
itle:	Letter of Confidentiality Received
	If Denied, Yes Date:
subscribed and sworn to before me this 6 day of tobusy	Wireline Log Received RECEIVED
007	Geologist Report Received CORPORATION COMMISS
lotary Public: Sussiline XICALIJEN	UIC Distribution FEB 1 3 2007
ate Commission Expires: 10-12-20/6	A CUDIOTIVE
	MOTARY PUBLIC STATE OF KANSAS WICHITA, KS My Appr. Exp. 10-10-2010

Operator Name: VJI						rms-Zimmer	C Well #: <u>2</u>	<u>-A</u>		
Sec. 30 Twp. 1	ow important tops a	and base of formations p	penetrated.	y: Rush Detail a	all cores. Report	t all final copies o	f drill stems t	ests giving	interval	
temperature, fluid reco	overy, and flow rate:	g and shut-in pressures, s if gas to surface test, inal geological well site	along with f	hut-in pr iinal cha	essure reached rt(s). Attach ext	static level, hydro ra sheet if more s	ostatic pressu space is need	ires, bottom led. Attach	hole copy of all	
Drill Stem Tests Taken (Attach Additional S		X Yes No		☑ Log Formation (Top), □			nd Datum	Sa	ample	
Samples Sent to Geol	ogical Survey	☐ Yes 【¾No		Nam	-	' A . 3	Top		atum	
Cores Taken		Yes X No		Heeb	ne Corral/	Anny	1112 3329	+ 882 - 1335		
Electric Log Run (Submit Copy)			1	sing Gp.		3381	-13	87		
List All E. Logs Run:				LKC			3403 3476	-14 -14	-	
Dual Indu	ction Log				Ks. City	Gp.	3635	-16		
	ed Density/1	Veutron Log		1	ckle Fm.	-1	37.59	-17		
	iver Cement				Total De	pth	3822	,		
		CASING Report all strings set-	RECORD	X Ne	4 .0 .00	ion oto	ATT OF THE STATE O			
Purpose of String	Size Hole	Size Casing	Weig		Setting	Type of	# Sacks	Type and	d Percent	
Drilled		Set (In O.D.)	Lbs./	Ft.	Depth	Cement	Used	Add	itives lake 102	
Surface 12 ¹ / ₄		8 5/8"	24		1112	common	410		1110LB	
Production	n 7 7/8	4 1 /2	10	• 5	3819	common	1 50	10% Sa	1t,2%Ge	
		ADDITIONAL	CEMENTIN	IG / SQL	JEEZE RECORD			<u> </u>		
Purpose:	Depth Top Bottom	Type of Cement	#Sacks	Used	Type and Percent Additives					
Protect Casing Plug Back TD Plug Off Zone										
	BEREORATIO	N RECORD - Bridge Plug	- 0-47							
Shots Per Foot	Specify Fo	ootage of Each Interval Per	forated			ture, Shot, Cement S ount and Kind of Mat		rd	Depth	
4	<u>3759-3762</u>			250g 15%						
TUBING RECORD	Size	Set At	Packer At		Liner Run	Yes X No				
Date of First, Resumerd P	Production, SWD or En	hr. Producing Meth	od	Flowing	Pumping	Gas Lift	Othe	r (Explain)		
Estimated Production Per 24 Hours	Oil B	bis. Gas M	Mcf	Water	Bbl	s. Ga	s-Oil Ratio	(Gravity	
Disposition of Gas	METHOD OF CO	MPLETION			Production Interva					
Vented Sold (If vented, Subm	Used on Lease	Open Hole	X Perf.	☐ Du	ually Comp.	Commingled				

LBS



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE: SALES & SERVICE OFFICE:

10244 NE Hiway 61 1700 S. Country Estates Rd. PO. Box 8613 PO. Box 129 Liberal, KS 67124-8613 (620) 672-1201 (620) 624-2277 (620) 672-5383 FAX (620) 624-2280 FAX

Invoice

Bill to:	9055000	Invoice	Invoice Date	Order		Station		
VJI Natural Resource		607184	7/26/06	13650		Pratt		
c/o Jason Dinges 1584 Smokey Hill River Rd. Hays, KS 67601			Service D	escription				
	or Pd	Cement						
	er Ru.		Lease	Wel	1	Well Type		
		Oborny	Farms-Zimmer	2A	الم ز.	New Wel		
			AFE	PO		Terms		
						Net 30		
Customer	Rep	Treater						
Larry Hinde	rlider	Clarence Messick						
. Description			UOM Quantity	Unit Price		Price		

<u>ID.</u>	<u>Description</u>	<u>UOM</u>	Quantity	Unit Price	<u>Price</u>
D201	A-CON BLEND (COMMON)	SK	210	\$16.50	\$3,465.00 (T)
D203	60/40 POZ (COMMON)	SK	200	\$10.30	\$2,060.00 (T)
C194	CELLFLAKE	LB	102	\$3.70	\$377.40 (T)
C310	CALCIUM CHLORIDE	LBS	1110	\$1.00	\$1,110.00 (T)
F101	TURBOLIZER, 5 1/2"	EA	2	\$74.20	\$148.40 (T)
F163	WOODEN CEMENT PLUG, 8 5/8"	EA	1	\$88.90	\$88.90 (T)
F233	FLAPPER TYPE INSERT FLOAT VALVES, 8 5/8"	EA	1	\$275.00	\$275.00 (T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	150	\$5.00	\$750.00
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	75	\$3.00	\$225.00
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	1388	\$1.60	\$2,220.80
E107	CEMENT SERVICE CHARGE	SK	410	\$1.50	\$615.00
R203	CASING CEMENT PUMPER, 1,001-1,500' 1ST 4 HRS ON LC	EA	1	\$1,229.00	\$1,229.00
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00
S100	FUEL SURCHARGE		1	\$131.66	\$131.66

Sub Total: \$12,946.16

Discount: \$2,281.35

Discount Sub Total:

\$10,664.81

Rush County & State Tax Rate: 5.30%

Taxes:

\$328.53

(T) Taxable Item

Total:

\$10,993.34

RECEIVED
KANSAS CORPORATION COMMISSION
FEB 1 3 2007

CONSERVATION DIVISION WICHITA, KS

ĴE	ets	5 <i>t</i> a	31-	FIELD C	RDER	13650
ENEF	RGY S	ERVI	.65	Subject to Correction Lease Oborny Farms - Zimmer 2 A	Legal 3 _	85-17W
Date 7-26	-06	Customer ID		County Rush State KS.	Station D	att
OV JT		Resource	ces. Inco			3.40'
A A	77410191	11(6500)	J- 11CO	Casing Peptiv TD 1.112'		face-New We
G				Curtamer Commenced to 1	rence P. M.	
E		 		Larry Million Company	ti cike jijii	<u> </u>
AFE Number		PO Number		Materials Received by X Wy W Work	îls	
Station Code	Product Code	QUANTITY		MATERIALS, EQUIPMENT, and SERVICES USED	UNIT PRICE	AMOUNT
<u> </u>	D-201	210sk.	A-Con	Blend		
_Р	D-203	200 str.	60/40	Poz		
P	C-194	10216	Cellflal	TO		
'p	C-310	· · · · · · · · · · · · · · · · · · ·	Calcium (
	CJU	1,11020.	CAICIUM	-1101196		
P	F-103	∂ ea.	Central	izer 85/0"	_	
<u>, b</u>	F-163	leq.	Wooden	izer, 8 5/8" Cement Plug, 8 5/8"		
þ	F-233	169.	Flanner	Type Insert Float Value, 85/8	,11	
-	1 9 3 3	109,	i iappei	Type Insert I loat valve, o ra)	_
P	E-100	150 mi.	Heavy V	ehicleMileage, 1-Way		
, b	F-101	75Mi.	Picturo (Mileage, 1-Way		
P'	E-104	1,388tm.		ivery		
· P	E-107			Service Charge		
		117 53117		STATE STATE		
P	R-203	lea	CasinaC	ement Pumper, 1.001-1.500'		
Έ	R-701	lea.	Cement	ement Pumper, 1,001'-1,500' Head Rental		
					1	
			Discour	ited Price =	\$	10,533.15
			Plus.	taxes	RECEIVE	
				KANSA	S CORPORATION	COMMISSION
					FEB 1 3 2	107
					ONSERVATION DI	/ISION
					WICHITA, KS	
10244 NF	Hiway 61 •	P.O. Box 861	13 • Pratt. KS 67	7124-8613 • (620) 672-1201 • Fax (620) 672-5383	TOTAL	



TREATMENT REPORT

ENE	MGY :	> ¢	= ~ ~	, I	221									4				
V. Sustamer N	atural	Re	Sour	ces.	Th	ease No		ted				Date						_
Osbor	nyFar	MS	-Zin	nne	r N	/ell #	2	A					/-	-26) —	06		
Field Progr	Statio	'nP	1911					85%	ซิว	3Lb. Depth	1,112	Count	y Ŕv	sh		Sta	ite KS.	
Type Job C				wV	Vel					Formation				Legal Do	escripti	5-171	W	_
PIP	'E DATA			FORAT			Ce	Cenfel UD USED					TREA	TMENT	RESU	JME		_
95/35/20	7 Juping Si	ze	Shots/F	t			1			acts A-	CON	RATE	132	iss _C , 2	d SIP	Set.	.2516/5	sk.
Gepth 2'	Depth		From		То					late	Max			<u></u>	5 Mi	n.		
Yoluma Bb	Volume		From		То		88	11.7	OL	b./sk.	M ¹⁷ .16	Gal	sk.	,2.790	U.ºp	fint./S	k	
400 P.S. I			From		То			200) <u>5ac</u>	ts 60/4	OPo-	2,28	<u>Gel,</u>	<u>;38C.C.,</u>	254		Cellflal	<u>re</u>
IVacan			From		То		14	.72	<u>Lb.</u>	16al., 5	716	<u>al.15</u>	k., 1	1.25cú	Tota	Hus/Prass	ure •	_
Customer Re		ери	From	<u>_</u>	То	L Statio		ush 68.		Bbl.Fre		↓ Tre	ate	T	<u> </u>		-! -	_
		<u>ar</u>	tx 1	inde 1303	rlid	Station	II IVIG.		<u>lav</u>	id Scc) TT		a.e	laren	<u>:e 1</u>	<u>./vjes</u>	SICK	_
Service Units Driver 4	 	6	45/	Blan	27111 +an		\dashv		\rightarrow					<u> </u>	+			_
Names Time Time	MegSict Casing Pressure	T	i ubing 🐪	1	1 <i>101</i> 1 s. Pum			Rate	_	I			Sen	rice Log	L		<u> </u>	-
9:00	Pressure	 [ressure	00.0	3. 1 01	ped		riaio		Trucks	onlo	catio			Safe		eetina	
12:00 A	m.																jtwit	
										Auto-F	illin	sert	Scr	ewed	i nto	collar	'and a	
										totalo	f 26	الكائر	new	234	2./F	t. 8 %	"casin	1 2).
2:10		<u> </u>		<u> </u>					\dashv							30 m	inutes	<u>) </u>
2:40	100	<u> </u>		 ,				<u>6</u>		Start					ush Concement 140Pozcement			
	150	-			5			_		Start	wixia	ry 210	<u> 2590</u>	tes H				_
	200	├		14	3	+		<u> </u>	\dashv	57911	WIXI	4 200	25qcl	12 POL	40 re	12 Cem	ehT	_
	-	 		10	<u> </u>				\dashv	Open		സൂം	<u> 200</u>	\nwe	<u>:11. D</u>	eleas	e plug.	_
3:10	200							4	_	Start		L H O	Disi	olacen	nent			_
	400			65	8.5	$; \perp$								d not				_
			·							Open								_
- <u>-</u>		<u> </u>								Washu	IP PUN	nptr	vet					
4:15		<u> </u>								Joba	omp	lete						_
		 						***			nant			AI	. ,			_
		-		 			·		\dashv		<u>lar</u>	ence	K./	<u>Mess</u>	<u>ick</u>	,		_
		 		 					\dashv	, 				RECEI	AED	MMISSION		_
													MSAS (EEB 1	3 200	7		_
		igsqcup												INSERVATION	IVIC NC			_
1024	4-NIE-Hiv	l CVV	61.0	20	7 a v	9612	a Dr	att K	2 6	7124-861	2.0 (6)	20) 67		MICKIT	A, KS		E383	4
1024	4 INE TIIV	vay	01 0	.U. L	DUX	0013	YFI	all, N	. O U	/ 124-00	3 4 (02	20) 07	2-12	VI - I a	X (U2		Inc 620-672-36	

Allied Cementing Co., Inc. P.O. Box 31

Russell, KS 67665

INVOICE

Invoice Number: 103875

Invoice Date: 08/14/06

Sold V. J. I. Natural Res.Inc.

To: 1584 Smokey Hill RD

Hays, KS 67601



Cust I.D....: VJI

Total . . . :

P.O. Number..: OBorny Farms/Zums
P.O. Date...: 08/14/06

P.O. Date...: 08/14/06

Due Date.: 09/13/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Gel	3.00	SKS	16.6500	49.95	Т
ASC	150.00	SKS	13.1000	1965.00	${f T}$
WFR-2	500.00	GAL	1.0000	500.00	Т
Salt	14.00	SKS	19.2000	268.80	${f T}$
Handling	167.00	SKS	1.9000	317.30	E
Mileage	55.00	MILE	15.0300	826.65	E
167 sks @>09 pe	r sk per mi				
Prod. String	1.00	JOB	1610.0000	1610.00	E
Mileage pmp trk	55.00	MILE	6.0000	330.00	\mathbf{E}
Guide Shoe	1.00	EACH	160.0000	160.00	\mathbf{T}
AFU Insert	1.00	EACH	250.0000	250.00	\mathbf{T}
Centralizers	3.00	EACH	50.0000	150.00	${f T}$
Rubber Plug	1.00	EACH	55.0000	55.00	\mathbf{T}
16	Company of the same of the sam	_			

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 648.27 ONLY if paid within 30 days from Invoice Date Subtotal: 6482.70 Tax...: 180.13 Payments: 0.00

6662.83

KANSAS CORPORATION COMMISSION

FEB 1 3 2007

CONSERVATION DIVISION WICHITA, KS

ALLIED CEMENTING CO., INC.

21049

Federal Tax I.D.#

SERVICE POINT: REMIT TO P.O. BOX 31 Dussell RUSSELL, KANSAS 67665 ON LOCATION CALLED OUT 1330 RANGE TWP. 8: 00Am 6',00 Am 1700 18 s LOCATION KUSH (enter OLD OR NEW (Circle one) OWNER AND MARK N STRING, PRODUCTION TYPE OF JOB **CEMENT** HOLE SIZE 7 AMOUNT ORDERED CASING SIZE 4/2 USED DEPTH 3819 DEPTH/102 TUBING SIZE SSA SURFACE DRILL PIPE DEPTH TOOL AFU INSERT COMMON **MINIMUM** PRES. MAX | over 1 **POZMIX** SHOE JOINT. MEAS. LINE **GEL** CEMENT LEFT IN CSG. 39 **CHLORIDE** PERFS. ASC DISPLACEMENT 500GALWERZ FLOCH **EOUIPMENT** @ CEMENTER CHENN PUMP TRUCK **HELPER** 398 BULK TRUCK @ 345 DRIVER BULK TRUCK 190 HANDLING ______ DRIVER MILEAGE TON MILE TOTAL 3927 REMARKS: **SERVICE** DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE 55 CK ConnecTion@

RECEIVED @

KANSAS CORPORATION COMMISSION MANIFOLD_ PERRICK FEB 1 3 2007 TOTAL _1940 CONSERVATION DIVISION STREET. WICHITA KS
PLUG & FLOAT EQUIPMENT ZIP_ STATE __ CITY_